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Ve AL RN

EFRAS R RS
202341 H
YE& AE
S HeERPRE® R IE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(DA 2.277 0.004 - 0.779 0.014 &
LA i 1.512 0.027 - 0.734 0.105 =
Z/LE (HCD 4.545 0.067 - 0.276 0.151 TE
mIbE (HF) 0.306 0.018 - 0.091 0.049 s
—&AERi (SO2) 15.147 0.344 - 6.399 2.451 TE
—4&bi% (CO) 7.578 0.006 - 0.279 0.072 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.867 - 6.475 2.160 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.009 - 0.044 0.014 &
LA 0.756 0.044 - 0.221 0.105 =
/L4, (HCD 0.756 0.118 - 0.197 0.151 =
wAbE (HF) 0.072 0.033 - 0.054 0.049 s
— &b (SO2) 3.789 1.916 - 2.763 2.451 =
—&Ei% (CO) 3.789 0.020 - 0.188 0.072 g
HAY (NOx)
DL E/EE (NOY) 15.147 1.447 - 3.277 2.166 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0052 &
g I Ry ki) 7.575 x 10° <5.849 x 10" =




Ve AL RN

EFRAS R RS
202341 H
YK AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(DA 2.277 0.004 - 0.814 0.012 &
LA i 1.512 0.009 - 1.106 0.075 =
/L4, (HCI) 4.545 0.062 - 0.376 0.231 =
mIbE (HF) 0.306 0.006 - 0.089 0.040 =
— &b (SO2) 15.147 0.182 - 5.286 2.290 =
—4& kbR (CO) 7.578 0.010 - 0.213 0.042 =
HELY (NOx)
PL—&/EE (NO2) 30.303 0.943 - 5.593 1.892 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.007 - 0.047 0.013 &
HEA T 0.756 0.034 - 0.238 0.077 =
ZF/bE (HCI) 0.756 0.180 - 0.291 0.230 s
wAbE (HF) 0.072 0.030 - 0.050 0.040 s
— &b (SO2) 3.789 1.556 - 2.585 2.296 =
—&Ei% (CO) 3.789 0.026 - 0.078 0.042 =
HAY (NOx)
DL=%AEE (NO2) 15.147 1.313-2.881 1.903 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
(c) FEREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0050 &
g I Ry ki) 7.575 x 10° <5.550 x 10" =




Ve AL RN

EFRAS R RS
202341 H
Y% BE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.002 - 0.020 0.003 &
LA i 1.512 0.016 - 0.990 0.085 =
/L4, (HCI) 4,545 0.022 - 0.366 0.155 =
mIbE (HF) 0.306 0.004 - 0.170 0.053 s
— &b (SO2) 15.147 0.029 - 10.303 2.247 =
—4& kbR (CO) 7.578 0.011 - 0.355 0.073 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.926 - 10.427 2.430 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.002 - 0.005 0.003 &
LA 0.756 0.029 - 0.151 0.085 =
Z/LE (HCI) 0.756 0.065 - 0.219 0.155 s
wAbE (HF) 0.072 0.027 - 0.061 0.053 s
&R (SO2) 3.789 1.538 - 3.167 2.246 =
—&Ei% (CO) 3.789 0.056 - 0.142 0.074 =
HAY (NOx)
DL=%AEE (NO2) 15.147 1.341 - 3.638 2.424 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0010 =
R A 0.0378 <0.0047 &
g I Ry ki) 7.575 x 10° <5.156 x 10" =
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(iii) fERHT 30 o8 feiet 8 /NRFHUGHANHYFE(E - BRESE ~ B ~ &% ~ 5f - 83~ 87~ &f > PR -
(iv) 1£ 6 2 8 /NEFHURIINEYFH(E -



